Name: Unit 11 Area—Day 1

Recalling Area- Notes

When finding the area of a polygon, the units must be included

and they must be SQ}M unwis . YD V) YY\US‘\'
hove yoor onits!

Let’s look at some formulas!

Parallelogram: | Triangle:
d A=3 (o-h)
th\(Bhk A=b.h
2
bose base
Trapezoid: Circle:
\h [+]) v
|
1oy A=tre®

A=3ene (b,xoy)

Examples: Find the area of the following figures.
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INTERIOR DESIGN The Bessos are [+-20 ft~— 25— 25 t—
planning to have new carpet installed : ‘
in their guest bedroom, family room, 29 ft Bgdur?)f)tm %aég‘!%’ Kitchen
and hallway. Find the number offsquare l 2l att
\yards &of carpet they should order if all I b T I T
rooms are rec tam,ulal 15{' f| Entry | Hall

Guest Bedroom: A' = ( 27—3(7—03 - L/‘/O ‘F+2

Family Room: A ‘-'(225(9 5\ = 550 HZ

Hallway: A = (&6} (33 - 75 ‘F’\ ¢

Total Square Feet: 4404850175
_now fonvert 4o Total Squore Yards —
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Area: Missing Sides + Recall of Special Right Triangles Notes

These ace Called
composties — we

Find the area of the following figures.
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Find the area. (Use gpecial right triangles)
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Find a missing length. A= -éh (b.*bz\

5. Trapezoid NOPQ has an area of 6. If H] is 16.5 feet, find CK.

302.5 square inches. Find the H 65t J
height of NOPQ). A )
N im0 / | A=18835f
L ng ° 4 i )
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7.  Find the height. 8. Rhombus RSTU has an area of
Q 675 square meters. Find SU.
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9. STAINED GLASS This stained - T P
glass window is composed of 8 3 ,,\3 frceo. oF U)m"f 72 A o
congruent trapezoidal shapes. _3_\ +ropezona v < =1 ~=-
The total area of the designis % >< L '
72 square feet. Each trapezoid \T 3/ 9=5h (5"“’\
has bases of 3 and 6 feet. Find S (e |3 -1
the height of each trapezoid. ~L- 9=%h (q)



